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pT resolution in CLD
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pT resolution in CLD
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k resolution in CLD
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k resolution in CLD
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p resolution in IDEA
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Events / bin

resolution in
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pT resolution in IDEA
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pT resolution in IDEA
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k resolution
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k resolution in IDEA
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Muon Momentum Resolution vs Magnetic Field
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Curvature Resolution o(k)

Muon Curvature Resolution vs Magnetic Field
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Number of MC particles in CLD and
IDEA
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Number of Recon particles

RMS vs Magnetic Field (IDEA)
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Number of Recon particles

RMS vs Magnetic Field (CLD)
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Number of Recon particles
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Number of Recon particles
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Number of Recon particles
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Total Reconstructed Charged Particles vs Magnetic Field
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Average Reco Charged Particles vs Magnetic Field
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0 resolution in IDEA
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0 resolution in IDEA
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0 resolution in IDEA
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cos(@) resolution in IDEA

14 14 -

12| 12 124

10f 10) K

8| 8 | R T T TR T T
Loy L A T L TR0 0d 02 002 04 06 08

0.5 Tesla 1.0 Tesla 1.5 Tesla




cos(#) resolution in IDEA
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cos(#) resolution in IDEA
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0 resolution in CLD
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0 resolution in CLD
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0 resolution in CLD
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cos(@) resolution in CLD
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cos(#) resolution
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cos(#) resolution in CLD
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omentum Resolution in CLD
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Momentum Resolution in IDEA
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Hadronic Energy Resolution (gq) for IDEA
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0.06

Hadronic Energy Resolution (qq) for CLD
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Mean of gq_res in IDEA vs Magnetic Field
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Mean of qg_res in CLD vs Magnetic Field
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RMS of gqq_res in IDEA vs Magnetic Field
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RMS of gg_res in CLD vs Magnetic Field
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# particles per abs(cos(f¢)) and
resolution in CLD
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# particles per abs(cos(f¢)) and
resolution in CLD

2.0 Tesla 2.5 Tesla 3.0 Tesla



Resolution per abs(cos(f¢)) in CLD
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Resolution per abs(cos(f¢)) in CLD

008

2 008 006

00

g

3.0 Tesla

008 006 004 002

1000
a0,
&0,
a0,
20,

008

006

1000
a0
&0
a0
200

.5 Tesla

2

2.0 Tesla




Conclusions

« Worse resolution at high abs(cos(6¢))
» Worst zone

« Narrower at low abs(cos(f¢)).
 Best zones for detectors

« Packed in underestimated resolution at
0.7 < abs(cos(f¢)) < 0.9

» Best resolution at 1.0 T.
» Consistent with hadronic resolution for CLD.
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# particles per abs(cos(f¢)) and
resolution in IDEA
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# particles per abs(cos(f¢)) and
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Resolution per abs(cos(f¢)) in IDEA
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Conclusions

 No strongly visible enhancement in resolution
from 0.5 to 2.0 Teslas but noticeable
concentration of better resolutions at 2.5.

« Similar to hadronic resolution obtained by IDEA.
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Next steps

« # of particles per abs(cos(f¢)) bin.
 Explore the distribution by angles.
« Compare with resolutions.
« RMS distribution per abs(cos(f¢)) for each
B-field.
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